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T.E & SCERT Exam 2023
(CANDIDATE RESPONSE SHEET)

Roll No
App No
Name
Paper/Subject D.El.Ed(Odia)
Exam Date 02 Jun 2023
Exam Slot 2

The questions are based on a short passage. Read the passage below to answer
the questions. Choose the correct answer from the four listed choices.

With mounting pollution levels in the capital, the Delhi government has
reintroduced the odd-even scheme to combat hazardous levels of smog. While
the pollution levels of several cities rose post Diwali celebrations, Delhi has
reported some of the worst Air Quality Index ratings in the last few years.

Delhi’s odd-even rule has been adopted twice since Chief Minister Arvind
Kejriwal's Aam Aadmi Party came to power. It was implemented for 15 days
from January 1-15 and April 15-30 last year, The Delhi government hopes that
the implementation of the Odd-Even rule will help curb the pollution level.

A Recap of the Rules:

Only odd-numbered cars were allowed on the roads between 8 a.m. and
8 p.m., except on Sundays, and people who violated the rule were fined
Rs. 2,000. Special arrangements like extra buses, a bike-taxi service and an
increase in the metro frequency were made to make the plan successful.

Volunteers carried placards explaining the rules and also handed out flowers to
offenders. Apart from the VIPs, politicians, Supreme Court judges and defence
vehicles, single women drivers and women drivers with children below the age
of 12-.were exempted from the Delhi odd-even rule.

The Odd-Even rule is predicted to aid in 12-15% reduction of pollutants during
the implementation phase. Till then it is important to take ample measures to

safeguard your health and adhere to these regulations.
Passage:

Question ID:11011
Topic Name:SECTION-I English Language
Question:

According to the passages, what special arrangements were made to make the odd-even plan
successful?

A Extra buses, a cab-taxi service and an increase in the metro frequency
B Extra cabs, a bike-taxi service and an increase in the frequency of buses
C

Extra cabs, a bike-taxi service and an increase in the metro frequency

P Extra buses, a bike-taxi service and an increase in the metro frequency Correct Answer

‘
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Answer Given By Candidate:Not Attempted

Question ID: 11012
Topic Name:SECTION-I English Language
Question:

According to the passage, Odd-Even rule is implemented in Delhi to curb which of the following
problems?

A Population

=

Traffic Jam

o}

Accidents

D ; .
Pollution Correct Answer

Answer Given By Candidate:D)

Question ID: 11013
Topic Name:SECTION-1 English Language

Question: \wrhich word in the passage means the same as ‘not liable to’?

A Exempted Correct Answer

=

Implemented

0

Violated

D Adopted

Answer Given By Candidate:)

Question 1D:11014
Topic Name:SECTION-I English Language
Question: \wWhat s the synonym for “INQUIRE”?

A Inspect Correct’ Answer

B Caution
€ Probability

. Neglect

Answer Given By Candidate:Not Attempted

Question ID:11015
Topie Name:SECTION-I English Language
Question: Salact the correct synonym of the underlined term in the given sentence.

She ruined our birthday plans.
A Protected
B Restored
€ Collapsed Correct Answer

D Repaired

Answer Given By Candidate:Not Attempted
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Question ID:11016
Topic Name:SECTION-I English Language
Question:

Find the antonym for the Underlined word.

Rekha has the right to terminate the contract if we do NOT meet the required terms and conditions.
A End

B Abort

®]

Dismiss

=

Establish

Correct Answer

Answer Given By Candidate:Not Attempted

Question ID:11017
Topic Name:SECTION-I English Language

Question: \which of the following means “Bid defiance”?
A To obey

B To refuse to submit Correct Answer

C To follow

D" None of the above

Answer Given By Candidate:Not Attempted

Question ID:11018
Topic Name:SECTION-I English Language

Question: \What js the meaning of the idiom, “To have bitten off more than you can chew”?
A To take food more than one can actually eat

B To boast one’s achievements more than the real one

C To have tried to do something too difficult for one to accomplish  (Correct Answer

D' To make false commitments and promises

Answer Given By Candidate:Not Attempted

Question ID: 11019
Topic Name:SECTION-I English Language
Question: Complete the question using the correct article.

She is very excellent student.
A the
B a Correct Answer
C an

D No article required

Answer Given By Candidate:Not Attempted
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Question ID: 110110
Topic Name:SECTION-I English Language
Question: Fill in the blank with the correct option.

Don’t ring the doorbell, come right the house.
A into Correct Answer
B |n
C of
D with

Answer Given By Candidate:Not Attempted

Question ID:110111
Topic Name:SECTION-I Education and General Awareness

Question: \Which disorder is partly caused by deficiency of Vitamin
B12 in human beings?

FI9HY6R RGIFR B129 ARG 6£1I9 699 6T §9?

A Blood Loss (Bleeding)
A% VL (VYD)

B Night blindness
AULARE

C Anemia
qqaal

Correct Answer

D Scurvy
—~
Al
Answer Given By Candidate:C

Question ID: 110112
Topic Name:SECTION-I Education and General Awareness

Question: Tha Hunter Education Commission was appointed by
which British Viceroy?

249 J31 26D 699 5§09 AR FIRU YD
6LlmImI?
A Lord Hastings

e 688°9
B Lord William Bentinck

NG ARl 69§°
C Lord Ripon

ne Qg

Correct Answer

D Lord Mountbatten
Me ClREETETR

Answer Given By Candidate:B
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Question ID: 110113

Topic Name:SECTION-I Education and General Awareness

Question:The |ndira Gandhi National Open University (IGNOU) was
established by an Act of Parliament in

RE R FINT QIS €D FFIGUIRL (IGNOU) _ 69 2°4QQl
4% 2R 919 196 6Tl |

A 1985
1985

B 2000
2000

€ 1980
1980

D 1995
1995

Correct Answer

Answer Given By Candidate:Not Attempted

Question ID:110114
Topic Name:SECTION-I Education and General Awareness
Question: \When was the East India Company incorporated in India?

A% RE2 AR QUAGER 6R6S 2ALHD CLIRRI?

A December 1600
@699 1600

B December 1560
@699 1560

C January 1566
Wlgelon 1566

Correct Answer

D November 1650
QELELR 1650

Answer/Given By Candidate:Not Attempted

Question ID: 110115
Topic Name:SECTION-I Education and General Awareness

Question:Tha National Achievement Survey (NAS) is aimed at

students from which classes?
U1 @E]fn\@ QIGG{SSIG (NAS) 699 696110 BRI
I Q@Y?

A Classes VII, VIII, IX and X
VI, VI, 1X 9" X Gglél1

B Classes |, Il, lll and IV
1, 11, 111 -9Q° 1V 65]6N

C Classes lll, V, VIl and X
I, V, VIl 99° X 65611

D Classes V, VI, VIII and IX
V, VI, VI 99° IX 6g]él1

Correct Answer
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Answer Given By Candidate:Not Attempted

Question ID: 110116
Topic Name:SECTION-I Reasoning
Question: Read the statements and select the best conclusion/conclusions that follows/follow definitely.

Statements:

I All the employees in the HR department are very efficient and knowledgeable.
Il Raju is a senior employee in HR department.

Conclusions:

1. All the members in HR department are very punctual to office.
2. Rajuis part of the HR department for the past 3 years.
Q909ER deg ¥9° G8e GIN6R AU KQRlQl A651Rr ARIg/ARIBYST SU KOG

@Q@:

FIRe AR TAFR A9 RGO 284S GF 96° R 2168 |
I Qlg FIeS 99R TRITIA K68 ST Al

a81e:

1. fIFS 99R TR 9619 99 2Td § 99 dagal |
2. Qg 915 3 ¥ AR FIFS AR TR 2°Fl |
A Only conclusion 1 is true
6Q9R d]Ig 2 99

B Both the conclusions are true

Qew A8Ig 96

C Only Conclusion 2 is true

692 d8Ie 2 964 269

D Both the conclusions are false

QELek A|1S Tl

Answer Given By Candidate:Not Attempted

Correct Answer

Question ID: 110117
Topic Name:SECTION-I Reasoning
Question:[f ‘air’ is called ‘sky’, ‘sky’ is called ‘earth’, ‘earth’ is called ‘water’,

‘water’ is called ‘fire’ and ‘fire’ is called ‘cold’ then what do we drink
after food?

a9Q '@l 2@l "2Rlel'y ', 'g2le’'q ', 'un'q 29 3

'El‘;j'(ﬁ ‘sl LlL 6669 Bl A6t 26T @'l dpelia?

A Water
o'm
B Fire

a9

Correct Answer

‘
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C Cold
clell

p Earth

dela

Answer Given By Candidate:Not Attempted

Question ID: 110118
Topic Name:SECTION-I Reasoning
Question: [N @ certain code, RUNNING is written as STOMJMH. How is JUMPING

written in that code?
q @Q‘Q- LM Oeo, aﬁﬁfﬁi STOJMH 691 6RSIAINRE | 698 d6TPER AFt°
QAR 6RSIAINR?

A KTNOJMH Correct Answer
KTNOJMH

B KTNOJMF
KTNOJMF

€ SVOOJMH
SVOOIMH

D SVOOMIJH
SVOOMIH

Answer Given By Candidate:Not Attempted

Question ID: 110119
Topic Name:SECTION-I Reasoning
Question: Fill in the blank

96, 60, 35, 10
SR FIF J9¢ 9%
96, 60, 35, 10
A 15
15

B 20
20

s 25
25

D 19
19

Correct Answer
Answer Given By Candidate:C

Question ID: 110120
Topic Name:SECTION-I Reasoning
Question: Find the next group of letters in the series.

TTO, UUN, VVM, WWL, XXK, YYJ,

6616NQ AQSEN WA 19 FA *Ag!
TTO, UUN, VVM, WWL, XXK, YYJ,

A ZZI A, _
771 Correct Answer

B 77]
7]
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Cc Z2ZK
ZZK

D Z7ZL
ZZL

Answer Given By Candidate:D

Question ID: 110121
Topic Name:SECTION-I Teaching Aptitude

Question: The ability to perceive the visual world accurately , to
perform transformations and modifications upon one’s
initial perceptions, and able to re-create aspects of one’s
visual experience is

QY ROIeg 40 RIRER AGRS KRR, FER YIAAR AUXEI

QUER ARG YQ° L°6LIIE FAQ! 9G° &R G4 A9RER

Qolgeq a8 Y& 2RQI6R AL 6991 ALIG! 690

A Verbal Intelligence

6elgla &G

B Visual Spatial Intelligence

QY PR QRS

Correct Answer

C Intrapersonal Intelligence
2edld 9l ‘Q_ﬁ‘ﬂ@l

D Interpersonal Intelligence
2A18EITR QRS

Answer Given By Candidate:B

Question ID: 110122
Topic Name:SECTION-I Teaching Aptitude

Question: \What is the first step in the problem-solving process?
YL ARG 9T golel Ae6ad /612

A |dentifying the problem
A 0L Q@RS

Correct Answer

B |dentifying possible solutions
4y delRie @@G‘ Al

€ Implementing the chosen solution
ARe eIRIE RIFIRIN RRQ!

D Evaluating the results
PRITPR ¢]mYlas

Answer Given By Candidate:D

Question ID: 110123
Topic Name:SECTION-I Teaching Aptitude

WtsApp/Call- 8596976190
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Question: Case studies are stories that are used as a teaching tool. Good cases
generally have the following features: they tell a good story, are recent,
include dialogue, create empathy with the main characters, are relevant to
the reader, serve a teaching function, require a dilemma to be solved, and
have generality. From an inclusive design perspective, case studies are:

RN 2RISR 6LAR FILIEN AL IR 1898 QURRE RUFEDR QUL
Y | M £llEImIeR RIS @ﬂ@%l@ CREIRY 2IIM: 6LFIIER 99 QM
RLIEN L8, AIFES AFE, A°RIA AL A8, €81 CALCNGT 986
QQI‘{J‘_@{:‘ ‘El@ Q9@, Ao ‘E]I{BTQI‘ZIETTG? 298, 99 5[l QIdy Q0G, 99
QLR ACIREG AILEIS FRE 99° ARIQES! QS | 99 LS GHING
Q@GQI&@, cleIml 2lelaa 61@‘?; 6¥ml:

A An attractive form of learning and assessment. CoffERA nse+
&l 6 FMiIDE 9@ 2ladana Qd |

B Confusing and does not allow researchers to observe and record
information
QUIBAR 9Q° F6QERCIRG ORI FUME 99° 69QE ATQIg 2T G QIS

€ Very unrealistic and imaginative. Learning and assessment are not
measurable.
ABYS 2L 99° @GR | S86 9Q° IRiIe A6 @6@9 I

D Confusing and does not provide better understanding of the behavior or

event
QISR YQ° 298 KU L6 SHACH QM BIFLER g?‘i%‘l dela @t 915

Answer Given By Candidate:Not Attempted

g;l[;it::rfl[c)sllf'(‘,l%IJON-l Teaching Aptitude

Question: \Which |learning style is associated with learning through physical activities
and hands-on experiences?

69 S8 6861 SIS FFIKRIA 9G° TLIS AFHE FIRICED SIS G

WGe?

A Visual learning

Qg2ln sl
B Auditory learning

§1961 Sl

C Kinesthetic learning
of 96 QORI Sl

Correct Answer

D Reading/writing learning

a0 9LQl/6meQl SIgSl

Answer Given By Candidate:Not Attempted

1’
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Question 1D: 110125
Topic Name:SECTION-I Teaching Aptitude
Question: The SEL was developed with the aim of preventing school violence and includes

five areas of interconnected skills which are:
QQUIRG §°‘21|Ei 6ARA QEREIER M alarya @ULIMZ/m| 99° Y26

o9 99 A56 QNTIA dIFT 698 2L Nl IS 6L

A Self-knowledge, social unawareness, self-management and disorganization,
responsible problem solving and relationship management.
2ig] ARG, dINIRe 269606, E‘ill?]_-ﬂ@@lﬁ‘@l Qe @élﬁ?ﬂ!, G‘Iﬁ.ﬁ‘.qﬁﬂ eyl
QERIS 9Q° AHG AAGIRA |

B Self-knowledge, social awareness, self-management and organization,

responsible problem solving and relationship management. Correct Answer
2RI, ACIFS 66696, 2Ig-ARIRS] 99° 2°6l08, ALY aaayl

aRIe 99° A8te AR0IRa |

C Self-knowledge, physical awareness, self-management and disorganization,
responsible problem solving and relationship management.
2Ig]RIG, SR L6LCRG, ﬂlﬂ-ﬂ@@lﬂml NQ”° @élfﬁ??ﬁ‘l, QIEQQ@ el
deRIG 9G° A8q AQSIREG! |

D Self-knowledge, social awareness, self-management and disorganization,
irresponsible problem solving and relationship management.
AR, AIFNGR L6SERE], 2E)-aIRNe| 99° Qgsrel, QHeLls daayl
QeIRIIE 9S° 991G ARGIRG! |

Answer Given By Candidate:Not Attempted

Question ID:110126
Topic Name:SECTION-I Teaching Aptitude
Question: \Which of the following is an example of an intrinsic motivation factor?

QImES FleQ 69610 NF 2RYLNE 6d8l FINRN 9T ALLRE?

A Teachers recognition
9 AIGYS!

B Peer recognition
dieln Slayel

C Personal interest

QRIS 2lge

Correct Answer

D Performance certificate

qidiesel aIceeay

Answer Given By Candidate:Not Attempted

Question 1D: 110127
Topic Name:SECTION-I Teaching Aptitude

‘
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Question:\\/hich of the following best defines informal education?

QIMYS FRIR 69QT 26RIASING S8l 6TIRE QUSER YISl

@eo?

A Structured and classroom-based learning
FORERR IR° 6¢/6l10)E K@ SISl

B Self-directed and learner-centered learning
4-0648e 9e° fIeh-69516 Gl

C Formalized curriculum with standardized assessments
lla@ milLa de oYl 2igYaa

Correct Answer

D Teacher-led instruction with set learning objectives

RN GIN6 AEa6Y € SR 609RER S8l

Answer Given By Candidate:C

Question ID:110128
Topic Name:SECTION-I Teaching Aptitude
Question:The press, the radio, the television, the theatre, the public library and

the cinema are:

69, 69@6, 69NHGR, 2NTR, 198 RIMETA IQ° A6REIl LR 6Lml:

A Only Active agencies of Education
699R SR 9N I6RT,

B Only Passive agencies of Education
6RaR SN0 YA Y6RT,

Correct Answer

C Both Active and Passive agencies of Education

SRR Qe A5 99° Y I6RT,

D None of the above
QU FRIQ G A1

Answer Given By Candidate:Not Attempted

Question 1D:110129
Topic Name:SECTION-I Teaching Aptitude

Question:\etacognitive strategies empower students to think about their own

thinking. This strategy is NOT demonstrated when the teacher:
6€1016QI695GQ VIR RILRIL1F 06 FSRIGI YEACA 08l A0L1g D6
QR | G99 @ A6 9T QNG 996 99 el

A does not encourage students to take responsibility for their own
learning, or for applying metacognitive strategies.

LILRILIT &@ I8 AR QIS 6991q Gl 661FI6QI6YTR VISR TG
A9 N AL A6 QIR |

Correct Answer

‘
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B encourages students to take responsibility for their own learning, or for
applying metacognitive strategies.
SR on dg AR QS 60Qlq Qeul GQS‘IGQIGG,I"E‘@ QEMT 6L
Q09I QYIEE 969 |

C encourages students to take responsibility for their own learning, or for
applying cognitive strategies to learn, relearn and unlearn.

2I8AIeE 0@ S8 AR QIS 68919 QYIS K69, AU JgQI, JRsHg 9_°
g9l Qi SIS 6R14R 96Isl K09 din ALIEEe Q63 |

D None of the Above
QAU FRIQ @B Q1L

Answer Given By Candidate:Not Attempted

Question ID: 110130
Topic Name:SECTION-I Teaching Aptitude

Question: is @ mode of teaching that accounts for students' individual
needs and learning styles before designing a lesson plan.

_ SSIQI9R 99 996 Q1L 9I0 641961 SRR S99 LR
SSLISIT QUGS 2SR 98° SIFE 65719 TIe K6 |
A Preparedness
gge
B Differentiated Instruction
0g 6g GeaagIel

Correct Answer
€ Brainstorming

A1e9e 2L

D Reflective thinking
JPePhe SIS

Answer Given By Candidate: A

Question 1D:110131
Topic Name:SECTION-II Odia Language

QI 6RQ UMD §19 ?
b oea

’ QlRe

¢ @RS  Comect Answer

" dlegie

Answer Given By Candidate:C

Question ID:110132
Topic Name:SECTION-II Odia Language

‘
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Question 16 A1Q" ARG 699 QU AT ANGG?
QU Comrect Answer

b aeiong

¢ QIefa

" QIRde

Answer Given By Candidate:C

Question ID: 110133
Topie Name:SECTION-II Odia Language

Queston: 10 oQIQ €IR ‘YLD RIS BB G9T F9 ?
B %@

¢ EJ_EI Correct Answer

D q@

Answer Given By Candidate:C

Question ID: 110134

Topic Name:SECTION-I1 Odia Language

Qi QRR’ Q [ANS 2¢] §RIRAYS! 18 F6YIB ARIQ 6T 6897

& did
B
R Correct Answer
¢ QgIeQ
D Qq
Answer Given By Candidate:C

Question ID: 110135
Topic Name:SECTION-II Odia Language

" 6afie PleaIe’ At ‘2IR6aIR’ 6908 ‘Age’ AIS 9'6 629 ?

D <
QQQ Correct Answer

Answer Given By Candidate:D

Question ID: 110136
Topic Name:SECTION-II Odia Language

‘
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Question:

AN FANG A2 9IR 2SI S8 F6YIB FRIQ 68RQF?
A oam Correct Answer

b gdam

¢ am

b 2em

i G By CoauiacD

Question ID: 110137

Topic Name:SECTION-II Odia Language

H QIR 26R AIRE QI - 921 I 609 JRIR Q&7
A QRULIR Q@ Correct Answer

5 GRIQSIEN

¢ @9gs 9@

P ORAINR Q@

T

Question 1D:110138
Topic Name:SECTION-II Odia Language

Quesion: DIARIAER 62 A1 T9'CIG K6 QLI ?
A odie Re

b QRQIe QU

€ 494 QeI

PAARQ ML Correct Answer

Answer Given By Candidate:D

Question ID: 110139

T()pic.Na?‘ie:SFCT[()N-H Odia Language - = _ _ .

T QIRa 69 AMEI K2l JARIG 6€1IR 697 §F | QGRS A° ARN6E
Q6918 IR 6995 QULLIR F6M AUTR A6R 6168 TRRES
629 QIa?

b IeIe Sy

b mMULI® @2 Correct Answer
¢ gnuQle Q2

> QUM
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Answer Given By Candidate:B

Question ID: 110140
Topic Name:SECTION-II Odia Language

Question: caAY A6T QISR 2P ?

A Q Correct Answer
B g
C e
D g

Answer Given By Candidate: A

Question ID: 110141
Topic Name:SECTION-II Odia Language

Question: caAT 6IGR AR ?

A @
B 2
C Gl
S Correct Answer

Answer Given By Candidate:Not Attempted

Question ID: 110142

Topic Name:SECTION-II Odia Language
Question: coT ACAIT ¥ ?

A @

B

¢ g

D o Cotréct Afswer

Answer Given By Candidate:B

Question ID: 110143
Topic Name:SECTION-II Odia Language

Question: o2 FRITRI AGRIT 6QUIFE TOF 60Q FeaIEY ?
ATl

@_m@l@ﬁ? Correct Answer

€ Qgeloa

D QIRIeR

Answer Given By Candidate:D

Question ID: 110144

Topic Name:SECTION-II Odia Language
Question: _ _ -
RIRQIY NNQ 6LRATAR | 6QEHFES VTR FEHAY Yo @A

‘
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A ORIQIGR

B geeion

C REea Correct Answer
D zegeiea

Answer Given By Candidate:B

Question ID: 110145

Topic Name:SECTION-II Odia Language
Question: foq §@ 66R @9 OF U108 | 606ITe 00Fa 66ty Jo @all
A JEIRIeR

B Qieolea

¢ Q9RIoR Correct Answer
D rrQiea

Answer Given By Candidate:C

Question ID: 110191

Topic Name:SECTION-IT Mathematics

Question: A 4rticle was sold for Rs 39.60 with a profit of 10%. If it were sold for Rs. 37.80,
what would have been the percentage of profit or loss?

60lIc @G'Y 39.60 TFIER IF 6LIN 10% MG 6LIRRIMII A& 9LIg 37.80
SFIEA TG FUL, 6G6T RN Tl AGR GOIQ 6868 6QIR2GI?

A 5.00 % profit
5.00 % mlt

Correct Answer

B 5.00% loss
5.00 % Q&

C  1.80 % profit
1.80 % Mt

D 71.80 % loss
1.80 %8G

Answer Given By Candidate:Not Attempted

Question ID: 110192

Topic Name:SECTION-II Mathematics

Question: A man took a loan from a bank at the rate of 12% p.a. simple interest.
After 3 years he had to pay Rs.5040 interest only for the period. The

principal amount borrowed by him was:

@64l 948 AR ol 98 IR 12% LIN6A UIFR R 66RAM | 3 9
069 Gl 699K Y& AKY IR 5040 TR LY 6991 AFYR| GIF TN
IR FRULINYS] JRUS 2R

A Rs.12000
Rs.12000

B Rs.14000
Rs.14000

Correct Answer
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C  Rs.15000
Rs.15000

D Rs.16000
Rs.16000

Answer Given By Candidate:Not Attempted
Question ID:110193

Topic Name:SECTION-II Mathematics

Qugation; The compound interest on Rs 2000, at 10% p.a. for 2 years is:

2 od QIR 96 QITR 10% 69 2000 T ATER IR F 62A&:

A Rs210
Rs 210

B Rs 400
Rs 400

C Rs420

Rs 420 Correct Answer

D Rs 2420

Rs 2420
Answer Given By Candidate: )
Question ID: 110194
Topic Name:SECTION-II Mathematics
Question: The LCM for 12, 15, 45 is
12, 15, 45 /61 LCM 69RE

A 2x 3x3x5=90
2x 3x3x5=90

B 2x2x3x3x5=180
2x2x3x3x5=180

Correct Answer

C 2x2x3x3=36
2x2%x3%x3=36

D 2x2x3x5=60
2x2%3x5=60

Answer Given By Candidate:Not Attempted

Question ID: 110195
Topic Name:SECTION-II Mathematics
Question: p1ahesh’s salary is Rs.12000 more than Sumit’s salary. If the ratio of

Mahesh’s and Sumit’s salary is 7:4, then what is the salary of Sumit?

feedm Qafll g Qo OIR 12000 g1 2K | 8 F16946 6 ghiew
QAR AGAIS 7:4, 6969 LASH QAN 6Q6%?

A 23000
23000

B 16000

16000 Correct Answer
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C 13000
13000

D 19000
19000

Answer Given By Candidate:Not Attempted

Question ID: 110196
Topic Name:SECTION-II Mathematics

Question: If A:Bis 2:3 and B-A = 28, then what is the value of B+A?

4G A:B6RQAE 2:3 99° B-A = 28, 606S 8+A QL (IR 696%?

A 160
160

B 180
180

C 170
170

D 140

Correct Answer
140

Answer Given By Candidate:Not Attempted

Question ID: 110197
Topiec Name:SECTION-II Mathematics

Question: |n an isosceles triangle, the angles opposite to the equal sides are:

4q dOYQlg SRR6, 9lq ﬂl‘éja QANS 6RIEYLD 6LMI:

A Equal
12191 1%

Correct Answer

B Supplementary
dgA@ 6916

€ Complementary

2RISR 6RI6

D None of the above

QUEUD FRIQ 6RNEAT G668

Answer Given By Candidate:C

Question ID:110198
Topic Name:SECTION-II Mathematics
Question: A |ine segment that connects two non-adjacent vertices of a polygon is called a:

9q 934 695ISIE AILI 49 FEHAN §AT AG-L°RY sdq 6T K61 I
QEICI:

A Diagonal Correct Answer
a4

B perpendicular

ey

‘
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C Median
1l

D Altitude
Qe

Answer Given By Candidate:Not Attempted

Question ID: 110199
Topic Name:SECTION-II Mathematics

Question: The point where two consecutive sides of a polygon meet is called a:

646 QIF6S 98 ERRN FEIGS 9RE al4 F6n SILIG LI

A Vertex

ey

Correct Answer

B Diagonal
ad

C Side
ang

D Angle
6Qlél

Answer Given By Candidate:Not Attempted

Question ID: 1101100
Topic Name:SECTION-II Mathematics

Question: Which of the following is not a method while solving a system of linear equations?
@ﬂﬁﬁ{@ £l 6995 GRS ANFAIR IR g6lR1 AERIE SRR AR IR

AI8E g6%?

A Substitution method

geege dee

B ‘Graphical method
olicPiel A8G

C  Elimination method
FEMYG A8G

D Exponential method

QP11 986

Answer Given By Candidate:Not Attempted

Correct Answer

Question ID:1101101
Topiec Name:SECTION-II Mathematics
Question: What is the solution of the system of equations?

2x+3y=10,x-2y=-3
AR QULEIN ellkIe @'6l?

2x+3y=10,x-2y=-3

‘
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A x=7/11,y=7/16
x=7/11,y=7/16

B x=7/5y=7/16
x=7/5,y=17/16

€ x=5/7,y=16/1
x=5/7,y=16/7

D x=11/7,y=16/7
x=11/7,y = 16/7

Correct Answer
Answer Given By Candidate:Not Attempted
Question ID: 1101102

Topic Name:SECTION-II Mathematics
Question: i i B g - 3
In a Venn diagram with two circles, the region outside both circles represents:

9% 98 IO 99 6UF 0L69, AR Q& FILIER Y AR JETYS A6

A the union of the sets

6999G99 2°6als

B the intersection of the sets
649900 OB 68Q

C  the complement of the union of the sets

6999690 2°6RTIR ARIRR

Correct Answer

D the empty set
e 649

Answer Given By Candidate:Not Attempted

Question ID: 1101103

Topic .l\'ame:Sl—I(."l‘[ON-[l Mathematics

Question: 1¢ A — 42, 4,6, 8} and B = {4, 8, 12, 16}, then the cardinality of A n B is:
QG A=1{2 4, 6,8} 99° B={4, 8, 12, 16}, 686% A n B Q FICFIRT 620&:

A Correct Answer

2
2
3
3
4
4
5

5

Answer Given By Candidate:Not Attempted

Question ID: 1101104
Topic Name:SECTION-IT Mathematics

‘
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Question: \what s the square of -3a + 2b?
-3a + 2b Q YUEJM 6R6E 68972

A 932.12ab +4b?
93%-12ab + 4b?

Correct Answer

B 932+ 12ab + 4b?
9a% + 12ab + 4b?

C 9a32-4ab + 4b?
9a? - 4ab + 4b?

D 9a? + 4ab + 4b?
9a* + 4ab + 4b?
Answer Given By Candidate:C

Question ID: 1101105
Topic Name:SECTION-II Mathematics

Question: ywhat is the square of 4xy?

4xy Q LR 6966 6297

A 8xy
8xy

B 16x2y?
16x%y?

Correct Answer

C 8x2yz
szyz
D 16xy
16xy

Answer Given By Candidate:B

Question ID: 1101106
Topic Name:SECTION-II Social Science

Questioniyyhich of the following statement is correct in relation to
Neolithic period?

GImee FUQ 6290 FRUIIE A AT a0Q &6o?

A In this period Nomads lived on food gathering

8 A06R 6RIFISAIER SlIQY L°FL6R QG2

In this period tools were made up of polished and finished
stones

9T 9619 FRIGH QERNSGER ORY 621NN 99° 996
geIe6% 823 621R2M

Correct Answer

Used rudimentary chipped stone tools in this period

UE Q016 FRIGR GIIER TUQ €29 QUa9d QULEIR
aUdImeml

‘
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D' This period saw the development of pebble (chopping) tools
J& DO FRIER 691IF (RITFN) QERAER IR 6RID2MI

Answer Given By Candidate:C

Question ID: 1101107
Topic Name:SECTION-II Social Science
Question: Which of the following Gods has been described in Rig-veda?

ROCLER TINGC 699 RISIGR 65 AUARER?

A Agni, the God of fire
29, 2R 6990

B |ndra, the God of warrior

o, 64IFa 69!

Soma, a God of plant from which special drink is made

64lI¢], K66l Q@S 699Gl 6&]9581@ 460G a1 gge anldid

D All of the Above
LUENW 1D

Correct Answer

Answer Given By Candidate:D

Question ID: 1101108
Topic Name:SECTION-II Social Science

Question: \y/h 6 established a political party named “Forward Bloc”?

& "PREIE 98" IR I8 ARCTER Of LAk

aaelem?

A Subhash ChandraBose Coitroct Ak
€Ql¥ 9% 6918

B Rashbehari Bose

AUFEGIA 6918

Jadugopal Mukhopadhyay
A9eolldim gJesliciele:

D Hema Chandra Ghosh
68¢1 04 6UIY

Answer Given By Candidate:B

Question ID: 1101109

Topic Name:SECTION-II Social Science

Question: \Who among the following established “London Indian
Society” and “East India Association”?

Qgmee FRIQ @Y "NAe Ad2Ie 6AIRT" 99° "N
Q&2 216Q1A9Le” oY 2Rj6m?

‘
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A Dadabhai Naoroji
QLRI DR

Correct Answer

Gopal Krishna Gokhale
6olldim 9% 6oll5l6Mm

C  lLala Lajpat Rai
miml MEds oUW

D Raja Ram Mohan Roy
QUG QUET BElIRE QUA

Answer Given By Candidate: D

Question ID:1101110

Topic Name:SECTION-II Social Science

Question: Directive Principles of State Policy of Indian Constitution is
described in which of the following articles?

QIOG1A RINA AURY M FeadIe 9NIe fgmEe
FRIQ 6Q AR Qdal aUARES?

A Article 12 to 35
AN 12 Q35

B Article 36 to 51
eligl 36 Q51

Correct Answer

€ Article 52 to 78
AN 52 Q78

D Article 79 to 89
IR 79 Q1 89

Answer Given By Candidate:Not Attempted

Question ID: 1101111

Topic Name:SECTION-IT Social Science

Question: Fyndamental Duties have been added in Indian constitution
by following the constitution of which of the following

country?

SIS IR 696 60dR IAUFG AGING §T AINGTA
IAIRER 67lAS KEISY CAIGIARE?

A Ireland

Mg

B Russia
Correct Answer
20 a

C  Japan
wlde

D England
o°mel
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Answer Given By Candidate:D

Question ID: 1101112

Topie Name:SECTION-II Social Science

Question: As per article 239AA of the Indian constitution , in 1991 by
69" constitutional amendment New Delhi was given which

of the following status?
BURS1E IAUKR IR 239AA 2GR, 1991 FALLIER
690¢1 AERIIT A°6ARIA FIRU QATRIG TIMGE FRIQ
699 FIRYSI FAUARARI?

Union Territory
69g SIKe 28R

B State
Ay

C National Capital Territory
@I QU 28w

Correct Answer

D Special State
goq qUwy

Answer Given By Candidate:D

Question ID:1101113
Topic Name:SECTION-II Social Science
Question: \Whg is the Chancellor of all universities of Odisha?

6REIR 9919 TYRUIRAR §RUT 32

A Chief Minister
geAGT

B Governor

U@l

Correct Answer

C _Chief Secretary
£]ol4 as9

Minister of Higher Education
Qe A

Answer Given By Candidate: B

Question ID: 1101114
Topic Name:SECTION-II Social Science

Question: \which of the following constitutes Indian parliament?

FYRGS FRIQ 6RGT AIRSIA 2°9Q F08 F0G?

A" Only Lok Sabha
6aTm GmiTtl

B Lok Sabha, Rajya Sabha and President taken together

CRINLW, AURILR B AUYAT IR0

Correct Answer

‘
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C Lok Sabha, Rajya Sabha and Supreme court taken together

6MINA, URILS B FaF 6915 IR0

D Only Rajya Sabha
699 DUl

Answer Given By Candidate:C

Question ID: 1101115
Topic Name:SECTION-II Social Science
Question:\Wind in the southern hemisphere deflects towards left due to:

QR4 69ININER IR Q11 GOl 618 F6R ARG

A Change in temperature
SIIFISIER ARRGE

B Rotation of the earth

geeia gde

Correct Answer

€ Change in pressure

6 IRRAE

D Difference in water content

@R aI9I69 alglay

Answer Given By Candidate:Not Attempted

Question ID:1101116
Topic Name:SECTION-II Social Science
Question: The study of the atmospheric processes is called as:

QIGEME IRAQ 2UARG ITAR GLILNIN:

A Seismology

Qa¢t RIQ

B Meteorology
aldialel SRIe

Correct Answer

C. Astrology
6@YIed Gl

D Palaeontology

@W1Qlg 2Aqdle

Answer Given By Candidate:B

Question ID: 1101117
Topic Name:SECTION-II Social Science
Question: \Which among the following is not a method for soil

conservation?
QYIRS FRIQ 69RT (JaT LAV IR 99 ARG §6%L?

A Afforestation
QI

‘
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B Qvergrazing

218l

€ No-till farming
RN 6L IMaeQ

Correct Answer

D' Terrace cultivation
2e KU TIY

Answer Given By Candidate:C

Question ID:1101118
Topic Name:SECTION-II Social Science
Question: Among the following options, which option contains all

non-renewable sources of energy?

FaRge Gag gEe RIQ, 696 Fag6a SR Ae1g 2d-
FMANE6LITY QL ALR?

A Water, air and minerals
am, QU 99° S18ia a1l

B Natural gas, oil and coal Cotrect Answer
dIQee oIg, 657 G 6qIam

C Wood, water and natural pastures
QI0, @R 99° 9Igee SIQEIRF

D sand, air and clay

QIM, QUL 6 1T

Answer Given By Candidate:B

Question ID:1101119
Topic Name:SECTION-II Social Science
Question: Grayitational force is maximum at:

Josiadd en Rl 6LIRa:

A" Equator
Qge 69l

B Tropic of Cancer

alalagNalo]

C Poles

6419

Correct Answer

D Tropic of Capricorn

¢1aQ 6l

Answer Given By Candidate: B

Question ID: 1101120
Topic Name:SECTION-II Social Science
Question:The imaginary lines touching both the poles of Earth are

called:

JRIRIR 8wl 661919 94 KRS AIFER 698IEG GLITIN:

‘
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A Latitudes
2I°gl

B Longitudes
69%11°cl

Correct Answer

C |sobars
Le191d 6%l

D Isotherms
<61 66l

Answer Given By Candidate: A

Question ID:1101121
Topic Name:SECTION-II Science
Question: Which among the following laws is not related to gases?

FURGIS ARG FRIQ 6707 ol IT6 IAFE 96272

A Boyle's law

SNIRE Gael

B Charles’s law
SlR Sae
C Hooke's law

Nal=Ralole

Correct Answer

D Gay-Lussac's law

6el-paIee Sael

Answer Given By Candidate:C

Question ID: 1101122
Topic Name:SECTION-II Science
Question:Surface tension exists in:

QY ARG 926D TS 2IK:

A Solids
@0

B Liquids S o
can Correct Answer

C Gases
Y1

D None of the above

QUCAB FRIQ 6QIETT g6L

Answer Given By Candidate:B

Question ID: 1101123
Topic Name:SECTION-II Science
Question:\\/hen water is cooled from 4°C to 0°C, its volume:

6460696 TIEg 4°C Q 0°C adis 24l AU, 6968696R ILIR
aelIg):

A increases

98 QIR

Correct Answer
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B decreases

L9 diwelig

C remains same

daie el

D first increases then decreases

gaIesl 98 diRalg 61d69 gid IRl

Answer Given By Candidate:B

Question ID: 1101124
Topic Name:SECTION-IT Science
Question: Which among the following is true?

INGS FRIQ 60RT ASY?

A Oxidation is the loss of electrons

@I 6208 AEMERITR VG

Correct Answer

B Oxidation is the loss of oxygen

@I 6268 AL AR

C Reduction is the loss of hydrogen

2ld 6208 QOdIea G

D Oxidation is the gain of electrons

@I 6LAE DEMER IR MK

Answer Given By Candidate: D)

Question ID: 1101125
Topic Name:SECTION-II Science
Question:Which one of the following is a displacement reaction?

RS TP 600G I8 SIS 98a 2667?
A HCl(aq) + KOH(aq) — KCl(aq) + H,0(1)
HCl(aq) +KOH(aq) — KCl(aq) + H,0(I)
hea
o (0H) Naad> Fe,04(s) + 3H,0(1)
h
2Fe(OH)3(s) — Fe,04(s) + 3H,0(1)
C CuS0,4(aq) + Ni(s) — NiS0,(aq) + Cu(s) ‘
CuS0,(aq) + Ni(s) = NiSO4(aq) + Cu(s) Correct Answer

D 2Be(s) + 0,(g) — 2Be0(s)
2Be(s) + 0,(g) — 2Be0(s)

Answer Given By Candidate: A

Question ID: 1101126
Topic Name:SECTION-II Science
Question: Foree is equal to the product of:

on ILIQ RYIG 9Le AR 265"

A mass and velocity

Q99 ¥9° J dt6d

‘
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B mass and pressure
Q99 9Q° Qld

C mass and acceleration

Q9 NG ol

D mass and displacement

Q99 9 Qglae

Correct Answer

Answer Given By Candidate:D

Question ID: 1101127
Topic Name:SECTION-II Science

Question: The difference in temperatures between water at the surface of the ocean

and the deeper sections is used to obtain:

A9 YR 2JQ1 AR ¥9° JRIQ QIF FIER SIAAISIR Aifiay 9IY KRSl
IR ULES 94

A Ocean thermal energy Correct Angwiet
delq SlIena 18

B Tidal energy
6 61D

C Water energy

@n 6@

D Geo thermal energy

Q@ SIIE 9

Answer Given By Candidate:Not Attempted

Question ID: 1101128

Topic Name:SECTION-II Science

Question: |f you are walking at a constant velocity of 5 kilometres per hourand a car
passed you by at a speed of 25 kilometres per hour from behind, what is
the car's velocity from your viewpoint?

€S 2196 JRYE 5 FKEMTTA 69616Q CIRRE 9e° AR QIS 25

QORI 690169 IG @lQ 26l Aegel Q@@, 64659 2ldélar

GRERNIQ QIR 6961 696672

A 20 kilometres per hour

€4l g6 20 @6mIFa

Correct Answer
B 25 kilometres per hour
4l g% 25 GenIFoR

€ 30 kilometres per hour
@& 9% 30 @EMITITR

D 40 kilometres per hour

Q4 g% 40 @A

Answer Given By Candidate:Not Attempted

Question ID: 1101129
Topic Name:SECTION-II Science

‘
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Question: Which of the following statements is true about cells?

FEREIS TQRGER TP 66 671N THAEH I8Y 265"?

A All cells have a nucleus.
4eld 6190 9a E_E‘I@Lﬂ‘il‘ 2l |

B All cells have a plasma membrane.

49 6QIVERQ YR SR 21|

C All cells have no proteins.

49 6RI86Q 69I5q f2IId|

Correct Answer

D All cells have a cell wall.

4el9 6919 99 691 KU 21 |

Answer Given By Candidate:B

Question ID: 1101130
Topic Name:SECTION-II Science
Question: Krehs cycle takes place within the of mitochondria.

699 08 ARSI ¢1269 6€ 12N |

A cisternae
e
B cristae
Q6%
C lamellae
mUETIm
D matrix _
g@%\ Correct Answer

Answer Given By Candidate:D

Question ID:1101131
Topic Name:SECTION-II Science
Question: |n most plants, growth is seen:

2RIDIE IR G 691G FI6R:

A Throughout their life span
64w delg] MRl

Correct Answer

B Only up to a certain age
6096 99 PER Qag adye

C In the last phase of their life cycle
6FINT W19 99 6618 AdYIER

D Never in their entire life span

646Ie@ gl MLARIR FRIER 6Q61Q @ EGQU

Answer Given By Candidate:B

Question ID: 1101132
Topic Name:SECTION-II Science

‘
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Question: potato skin is also called as

2lg oelg €1l Gelang |

A Epiderm
2|0l

B Periderm
6aaed

Correct Answer

€ sapwood
9g

D Cuticle
Qleyed
Answer Given By Candidate:B

Question ID: 1101133
Topie Name:SECTION-II Science

Question: plants which grow in salty water are called
Q@2 Q1d6 9g2Iel S18g QEILIN |

A Thermoacidophiles
26£INA6GICInm,

B Halophytes
LIEMIPIMD,

Correct Answer

C Methanogens
clRl6R169S,

D Heliophytes
6LMBTING,

Answer Given By Candidate: A

Question ID: 1101134
Topic Name:SECTION-IT Science

Question: The common cold in human being is caused by

FlgAY6R didlIG6] 2l QIR 6L |

A Salmonella typhi
ARCIEa M SIREP

B Rhino virus

AURGE! RB1E]

Correct Answer
C Plasmodium falciparum
QJE?IG?II@D.?[ mmé‘mlaq

D Streptococcus pneumoniae

6RL6YCRIA KeLIR2l

Answer Given By Candidate:C

Question ID: 1101135
Topic Name:SECTION-II Science

‘
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Question: A genetically engineered bacterium used for cleaning oil spills is

660 F6AE AT AR AN LS IR 6R680R ABEAR° }1Q1¢]
6LRR |

A Escherichia coli
Q6T 69IM
B Agrobacterium tumefaciens

2I6SIUICLRAE] F6FI6EPAR,

C Pseudomonas putida

daeelelnlg 9ol

Correct Answer

D Salmonella typhimurium

AR SIRCPIRCIUAL]

Answer Given By Candidate:Not Attempted
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